# Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) (41-11)+10=
E— 1
2) 16+ (18+9) = 2
3
3 (20+20)+10=
4.
4) (5x8)-4=
5.
9 (2+2)-1= 6.
7.
6) (19-14) x 2 =
8.
) (36+6)x4= 9
8 6+(L+9) = 10.
11.
9 8+(14-1) =
12.
10) (4+5)x8=
( ) 13.
1) 6x7)+2= 14,
15.
12) (9x4)+13=
13) 2x8) x3=
14) (12+4)-3=
15) (21-2)-9=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
) (41-11)+10= 3 (30)+10 . 3
2 16+(18+9 = 18 16+ (2 2 18

3. 4
3 (20+20)+10= 4  (40) + 10

4 36
4 (5x8)-4= 36 (40)-4 i 3
5 2+2)-1= 3 (4-1 6. 10

7. 24
6) (19-14)x2= 10 (5)x2

8. 16
) (36+6)x4= 24 (6)x4 . 21
8 6+(1+9)= 16 6+(10) 10, [

11. 21
9 8+(14-1)= 21 8+ (13)

12 49

10) (4+5)x8= 72 (9 x8 . 48

1) 6x7)+2= 21 (42)=2 14 0

15. 10

12) 9x4)+13= 49 (36)+13

13) 2x8)x3= 48 (16)x3

14) (12+4-3= 0 (3)-3

15) (21-2)-9= 10 (19)-9
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Solving with Parenthesis

Name:

Solve each of the problems.

18 4

21 24 16
21 72 36

48
10
10

) 41-11)+10=

2 16+ (18+9) =

3 (20+20)+10=

4 (5x8)-4=
5) (2+2)-1:

6) (19-14)x2=

7) (36+6)x4=
8 6+(1L+9) =
9 8+(14-1) =
10) (4+5)x8=
1) 6x7)+2=
12) (9x4)+13=
13) 2x8)x3=
14) (12+4)-3=

15) (21-2)-9=

10.

11

12.

13.

14.

15.

Answers
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) 15+(5x2) =
1
2) (15-4)-2= 2.
3
3) (64+8)-2=
4.
4 (6+9)x8=
5.
5 (9+8)+8= 6.
7.
6) (24+6)+2=
8.
) (2x6)x8=
9.
8 5+ (4-3)= 10.
11.
9) (7+3)+1=
12.
100 2x4)-6=
( ) 13.
1) (1+8)-1= 14,
15.
12) (7x9)+10=
13) (34-6)+4 =
14) (12+6)x6=
15 5x 14-1) =
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15(27|20(13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1) = 2
15 + (5 x 2) 5 15+(10) N 25
) (15-4)-2= 9 (11)-2 2 9
3 6
3 (64+8)-2= 6 (8)-2
4 120
4 (6+9)x8= 120 (15)x8 i o5
5 (9+8)+8= 25 (17)+8 6. 6
7 96
6) 24+6)+2= 6 (4+2
8 6
) 2x6)x8= 96 (12)x8 . 10
8 5+(4-3)= 6 5+(1) 10. 2
11. 8
9 (7+3)+1= 10 (10)+1
12. 6r3
100 2x4)-6= 2 (8)-6 y .
11) (1+8)-1= 8 (9)-1 14, 12
15. 65
12) (7x9)+10= 613 (63)+10
139 (34-6)+4= 7 (28)+4
14) (12-6)x6= 12 (2)x6
15) 5x(14-1)= 65 5x(13
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Solving with Parenthesis

Name:

Solve each of the problems.

8 6 6
65 25 10
7 96 6r3

120
12

25

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

15+ (5% 2) =

(15-4)-2 =

(64+8)-2=

(6+9)x 8=

(9+8)+8=

(24+6)+2=

(2)(6))(8:

5+ (4-3) =

(7+3)+1=

(2x4)-6=

(1+8)-1=

(7x9)+10 =

(34-6)+ 4=

(12+6)x6 =

5x (14-1) =

10.

11

12.

13.

14.

15.

Answers
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) 3+(14-10) =
1
2 (1+6)+4= 2
3.
3 (3x6)+3=
4,
49 (8+7)x10=
5.
5 4+ (18+6) = 6.
7.
6) (5x8)x9=
8.
7) 8+13)+3= o
8 (60+6)x5= 10,
11.
9) (90-9)+9=
12.
10) 5Ex6)-8=
( ) 13.
11) 9+3)-1= 14,
15.
12) (3+6)-6=
13) 18+ (9x5) =
14) 3-1)-1=
15) 9x(12-5) =
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
) 3+(14-100= 7 3+(4) . -
2 (1+6)+4= 11 (7)+4 2 11
3. 6
3 3x6)+3= 6 (18)+3
. 150
4 (8+7)x10= 150 (15)x10 i -
5 4+(18+6)= 7 4+(3 6. 360
7 7
6) 5x8)x9= 360 (40)x9
8 50
7 (8+13)+3= 7 (21)=3 . 9
8 (60+6)x5= 50 (10)x5 10 22
11. 2
9 (90-9)+9= 9 (81)=9
12. 3
10) 5x6)-8= 22 (30)-8 - 63
1) 9+3)-1= 2 (3-1 14 1
15, 63
12) 3+6)-6= 3 (9)-6
13) 18+(9x5)= 63 18+ (45)
14 3-1)-1= 1 (2-1
15) 9x(12-5 = 63 9x(7)

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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# Solving with Parenthesis

Name:

Solve each of the problems.

7 22 63
7 7 63
9 150 3

360

50
11

1) 3+(14-10) =
2 (1+6)+4=
3 (3x6)+3=
4 (8+7)x10=
5 4+(18+6) =
6) (5x8) x9-=
7 (8+13)+3=
8 (60+6)x5-=
9 (90-9)+9=
10) (5x6)-8=
1) 9+3)-1=
12) 3+6)-6=
13) 18+ (9%5) =
14) 3-1)-1=

15 9x(12-5) =

10.

11

12.

13.

14.

15.

Answers
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) 12+4)x3=
1
2) (5%6)-15= 2
3
3) (3+7)+9=
4.
4) (2x10)+8=
5.
5 (42+7)-3= 6.
7.
6) (43+29)+9=
8.
7) (24-8)-8=
9.
8 10+ (15-5) = 10,
11.
9 2+(4x9) =
12.
10) (4+3)x10=
13.
11) 8x(2-1) = 14,
15.
12) 6+7)-7=
13) 8x2)x3=
14) (33-13)+4 =
15) (48+6)+10=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15(27|20(13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1) - =
(12+4)x3 9 (3x3 ) 9
2 (5x6)-15= 15 (30)-15 2 15
3 19
3 (3+7)+9= 19 (100+9
4. 2r4
4 2x10)+8= 2r4 (20)+8 i 3
5 (42+7)-3= 3 (6)-3 6. 8
7 8
6) 43+29)+9= 8 (72+9
8 20
) (24-8)-8= 8 (16)-8 . 38
8 10+ (15-5 = 20 10+ (10) 10. /0
11. 8
9 2+(4x9 = 38 2+(36)
1. 6
100 (4+3)x10= 70 (7)x10 - 48
1) 8x(2-1)= 8 8x(1) 14 S
15. 18
12) 6+7)-7= 6 (13)-7
13) 8x2)x3= 48 (16)x3
14) (33-13)+4= 5 (20)+4
15) 48+6)+10= 18 (8 +10

Math 4 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Solving with Parenthesis

Name:

Solve each of the problems.

70 20 8
18 15 38

5 3

48

19

2r4

) (12+4)x3=
2) (5%x6)-15=
3 (3+7)+9=
4 (2x10)+8=
5 (42+7)-3=

6) (43+29)+9=

7 (24-8)-8=
8 10+ (15-5) =
9 2+(4x9) =
10) (4+3)x10=
1) 8x(2-1)=
12) 6+7)-7=
13) 8x2)x3=

14) (33-13)+4=

15) (48+6)+10 =

10.

11

12.

13.

14.

15.

Answers
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) (18-6)-3=
1.
2) (21+3)x1= 2
3
3 (6x5)-2=
4,
4) 5x(9+6) =
5.
9 (2-1)x4= 6.
7.
6) 10+ (7+10) =
8.
) (2x9)x6=
0.
8 (6+2)-4= 10.
11.
9 (30+6)-1=
12.
10) (15+17)+8=
— 13.
11) (6x5)+3= 14,
15.
12) 10+ (19-8) =
13) (35-5)+10=
14) 5+ (56+8) =
15 (6x9)+3=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1) _6)-3= )
(18-6)-3= 9 (12)-3 . 9
2 (21+3)x1= 7 (7)x1 2 /
3 28
3 (6x5)-2= 28 (30)-2
a 75
4 5x(9+6)= 75 5x(15) ] 4
5 (2-1)x4=_ 4 ()x4 6. 2/
7 108
6 10+(7+10)= 27 10+(17)
8 4
7 (2x9) x6= 108 (18)x6 . 4
8 6+2-4=_ 4 (8-4 10, 4
11, 33
9 (30+6)-1= 4 (5-1
12 21
100 (15+17)=8= 4 (32)-8 . 3
1) (6x5)+3= 33 (30)+3 w_ 12
15. 18
12) 10+(19-8)= 21 10+ (11)
13 (35-5)+10= 3  (30)+ 10
14) 54+4(56+8)= 12 5+(7)
15 (6x9)+3= 18 (54)=3

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Solving with Parenthesis

Name:

Solve each of the problems.

21 108
4 7
4 3

12
75

33
18
27

1) (18-6)-3=

2 (21+3)x1=

3 (6x5)-2=

4) 5x(9+6) =

5 (2-1)x4=

6) 10+ (7+10) =

) (2x9)x6=

8 (6+2)-4=

9 (30+6)-1=

100 15+17)+8=_
11) 6x5)+3=

12) 10+ (19-8) =

13) (35-5)+10=

14) 5+ (56+8) =

15 (6x9+3=

10.

11

12.

13.

14.

15.

Answers
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) (6x5)x4=
1
2 5+1)-1= 2
3
3 13+(2x5)=
4.
4) (2x7)-13=
5.
5 (8x3)+6= 6.
7.
6) (18+9)x4=
8.
) (29+1)+10=
— 9.
8 (98-8)+9= 10,
11.
9 7x(2+1) =
12.
10) (15-4)-6=
( ) 13.
11) 10+ (48 +8) = 14.
15.
12) 5% (19-4) =
13) (24+4)-3=
14) (5 + 4) +7 =
15) (17-3)+1=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1 —
) (6x5)x4= 120 (30)x4 L 120
2 5+1)-1= 5 (6)-1 2 S
3 23
3 13+(2x5 = 23 13+ (10)
4 1
9 2x7)-13= 1 (14)-13 ] 4
5 (8x3)+6= 4 (24)+6 6. 8
7 3
6) 18+9)x4= 8 (2)x4
8 10
N (29+1)+10= 3 (30)+10 9 21
8 (98-8)+9= 10 (90)+9 10, o
11. 16
9 7x@2+1)= 21 7x(3
12, 75
10 (15-4)-6= 5 (11)-6 . 3
11) 10+(48+8)= 16 10+ (6) 14 16
15, 15
12) 5x(19-4) = 75 5x(15)
13) (24+4-3= 3 (6)-3
14) 5+4)+7= 16 (9+7
15 (17-3)+1= 15 (14 +1

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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# Solving with Parenthesis

Name:

Solve each of the problems.

5 3 16 120
16 15 3 8
4 5 75 23

10

21

1) (6x5)x4=
2 (5+1)-1=
3 13+(2x5) =
4 (2x7)-13=
5 (8x3)+6=
6) (18+9)x4=
N (29+1)+10=
8 (98-8)+9=
9 7Tx(2+1) =
10) (15-4)-6=
11) 10+ (48+8) =
12) 5x(19-4) =
13) (24+4)-3=
14) 5+4)+7=

15 (17-3)+1=

10.

11

12.

13.

14.

15.

Answers
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
1) 18+3)+8=
1
2) (12-11)x4= 2
3.
3 (2x6)-8=
4,
4) (56+7)-8=
5.
5 (6+3)x3= 6.
7.
6) (5-4)+6=
8.
) (11-3)-7=
9.
8 (9+9)-10= 10.
11.
9 B3+1)=+4=
12.
100 (4+1)x10=
13.
1) 6+8)+7= 14,
15.
12) (36-8)+4=
13) (3x5)x4=
14) 15+ (2% 10) =
15 (6x3)+3=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1 = -
) (18+3)+8= 14 (6)+8 . 14
D (12-11)x4= 4 (1)x4 2 4
3 4
3 2x6)-8= 4 (12)-8
4 0
4 - -89 = -
) (56+7)-8 0 (8)-8 i 5
5 6+3)x3= 6 (2)x3 6. 7
7 1
6) 5-4)+6= 7 (1)+6
8 8
7 -3)-7 = -
) (11-3)-7= 1 (8 -7 . 1
8 (9+9)-10= 8 (18)-10 10 o0
11. 21
9 B+1)=+4= 1 (=4
12 7
0 —
100 4+1)x10= 50 (5 x10 " 60
1) 6+8)+7= 21 (14)+7 14 35
15. 6
12) (36-8)+4= 7 (28)+4
139) Bx5)x4= 60 (15x4
14 15+(2x10)= 35 15+ (20)
15 6x3)+3= 6 (18 +3

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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# Solving with Parenthesis

Name:

Solve each of the problems.

6 8 6 14
0 1 4 21
1 7 60 50

35

1) 18+3)+8=
2 (12-1)x4=
3 (2x6)-8=
4 (56+7)-8=
5 (6+3)x3=
6) (5-4)+6=
) (11-3)-7=
8 (9+9)-10=
9 B3+1=+4=
10) (4+1)x10=
11) (6+8)+7=
12) (36-8)+4=
13) 3x5)x4=
14) 15+ (2x10) =

15 (6x3)+3=

10.

11

12.

13.

14.

15.

Answers
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
) 7x(3-1) =
1
2) (4%x6)+6= 2
3.
3 (4+3)-6=
4,
4 (7x5)+10=
5.
5 (46+44)+10= 6.
7.
6 (14-1)-9=
8.
) (4+1)x8=
9.
8 (80+10)+8= 10,
11.
9) (27+3)-3 =
12.
10) (32+8)x2=
( ) 13.
11) (9x3)-12= 14,
15.
12) (7+6)+3=
13) (14-2)+8=
14) 9x7)x5=
15 (36-18)+6=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15]27|20)13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
) 7x@-1)= 14 7x(2 . 14
2 (4x6)+6= 30 (24)+6 2 30

3 1
3 (4+3)-6= 1 (7)-6
4. 3r5
4 (7x5)+10= 3r5 (35)+10 i 9
5 (46+44)+10= 9 (90)+ 10 6. 4
; 40
6 (14-1)-9= 4 (13)-9
8 16
N (4+1)x8= 40 (5)x8 . 6
8 (80+10)+8= 16 (8)+8 10. 8
11, 15
9 (27+3)-3= 6 (9)-3
12, 16
100 32+8)x2= 8 (4x2 . 20
1) 9x3)-12= 15 (27)-12 4 315
15. 3

12) (7+6)+3= 16 (13)+3

13) (14-2)+8= 20 (12)+8

14) 9x7)x5= 315 (63)x5

15 (36-18)~6= 3 (18)+6

Math 8 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
a www.CommonCoreSheets.com 11-15|127120|113| 7 [ O




# Solving with Parenthesis

Name:

Solve each of the problems.

16 30 315 3
1 16 4 40
14 9 3715 20

15

D 7x(3-1) =
2 (4x6)+6=
3 (4+3)-6=
4 (7x5)+10=
5) (46+44)+10=
6 (14-1)-9=
) (4+1)x8=
8 (80+10)+8=
9 (27+3)-3=
10) 32+8)x2=
1) 9%x3)-12=
12) (7+6)+3=
13) (14-2)+8=

14) (9)(7))(5:

15) (36-18) + 6 =

10.

11

12.

13.

14.

15.

Answers
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Solving with Parenthesis Name:
Solve each of the problems. Answers
1) (2x4)-3=
1
2) (9x4)+9= 2.
3
3) (11-5)x 2=
4.
4) (63+7)-2=
5.
5 (31+17)+8= 6.
7.
6) (74-14) +6 =
8.
) 9x(3+4) =
9.
8 (10x2)x5= 10,
11.
9 3+(10-3) =
12.
10) (6x8)+10=
13.
11) 84 (15+3) = 14.
15.
12) (22-5)-7=
13 8+4)+9=
14) 18+2)x1=
15) (8+10)-12 =
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 11-15(27|20(13| 7 | O




ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1) -2 = -
(2x4)-3 5 (8)-3 ) 5
2 (9x4=+9= 4 (36)+9 2 4
3 12
3 (11-5)x2= 12 (6)x2
4 7
9 63+7)-2= 7 (9)-2 ] 6
5 (81+17)+8= 6 (48)=8 6. 10
7 63
6) (74-14)+6= 10 (60)+6
8. 100
) 9x(3+4) = 63 9x(7) 9 10
8 (10x2)x5= 100 (20)x5 10, o8
11. 13
9 3+(10-3)= 10 3+(7)
12, 10
100 6x8)+10= 58 (48)+10 y 21
1) 8+(15+3)= 13 8+(5) 14 9
15. 6
12) (22-5)-7= 10 (17)-7
13 8+4)+9= 21 (12)+9
14) 18+2)x1= 9 (9x1
15 (8+10)-12= 6 (18)-12

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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# Solving with Parenthesis

Name:

Solve each of the problems.

6 6 21
10 63 58
9 10 10

12

13

100

D (2x4)-3=
2 9x4)+9=
3 (11-5)x2=
4 (63+7)-2=
9 (31+17)+8=

6 (74-14)+6=_
) 9x(3+4) =
8 (10x2)x5=
9 3+(10-3) =
10) (6x8)+10=
11) 8+ (15+3) =
12) (22-5)-7=
13 (8+4)+9=

14) 18+2)x1=

15) (8+10)-12=

10.

11

12.

13.

14.

15.

Answers

M odified
[ M ath ] www.CommonCoreSheets.com
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80
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# Solving with Parenthesis

Name:
Solve each of the problems. Answers
) 9%x4)+7=
1.
2 7x(14-7) = 2
3
3 14+7)+2=
4.
4) (8+1)+8=
5.
5) (39+1)+10= 6.
7.
6) (2x3)-6=
8.
7) (4 + 4) -7=
9.
8 (27+9)x9= 10
11.
9 (70+10)-4=
12.
10) (7+8)x5=
( ) 13.
11) (13-9)+7 = 14.
15.
12) (39-15)+3=
13) (14-3)-4=
14) (10x8)+15=
15) (3x9)x3=
1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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ﬂh Solving with Parenthesis Name.Answer Key

Solve each of the problems. Answers
1 - -_ -
) 9x4)+7= 5r1 (36)+7 ) 511
) 7x(14-7)= 49 7x(7) 2 49
3, 4
3 M4+7+2= 4 (2+2
4. 17
4 —
) 8+1)+8= 17 (9 +8 i 4
5 (39+1)+10= 4 (40)+10 6. 0
7 1
6) 2x3)-6= 0 (6)-6
8 27
7 -7 = -
) 4+4)-7= 1 (8)-7 . 3
8 (27+9)x9= 27 (3)x9 10, 75
11. 11
9 (70+10)-4= 3 (7)-4
12 8
10 —
) (7+8)x5 75 (15 x5 Y -
1) (13-9)+7= 11 (4 +7 14, 95
15. 81
12) (39-15)+3= 8 (24)=+3
13 (14-3)-4= 7 (11)-4
14 (10x8)+15= 95 (80)+ 15
15 B3x9x3= 81 (27)x3

1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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Cll# Solving with Parenthesis

Name:

Solve each of the problems.

3 95 1 27
8 7 49 11
17 4 5r1 75

81

D 9%x4)=+7=

2 Tx(14-7) =

3 (14+7)+2=

4 (8+1)+8=

5 (39+1)+10=
6) 2x3)-6=

) (4+4)-7=

8 (27+9)x9=

9 (70+10)-4=
10) (7+8)x5=

1) (13-9)+7=

12 (39-15)+3=
13) (14-3)-4=

14) (10x8) +15=

15 3x9)x3=

10.

11

12.

13.

14.

15.

Answers

M odified
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